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run_13055088 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Fri Feb 24 22:05:39 2012
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run_13055088 FGT_RMS 1,Timebin=2,Disc=5,asmb=5DA
Fri Feb 24 22:07:38 2012
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run_13055088 FGT_ ADC 1,Timebin=2,Disc=5,asmb=5AB

Fri Feb 24 22:05:40 2012
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run_13055088 FGT_ ADC 1,Timebin=2,Disc=5,asmb=5AB
Fri Feb 24 22:05:44 2012
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run_13055088 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
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run_13055088 FGT_RMS 1,Timebin=2,Disc=5,asmb=5AB
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run_13055088 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC
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Fri Feb 24 22:07:06 2012
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Fri Feb 24 22:07:40 2012
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run_13055088 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC
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run_13055088 FGT RMS 1,Timebin=2,Disc=1,asmb=1BC

Fri Feb 24 22:07:41 2012
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run_13055088 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD
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run_13055088 FGT MPV_1,Timebin=2,Disc=1,asmb=1CD

Fri Feb 24 22:07:09 2012
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run_13055088 FGT RMS 1,Timebin=2,Disc=1,asmb=1CD
Fri Feb 24 22:07:42 2012
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run_13055088 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD
Fri Feb 24 22:05:59 2012
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run_13055088 FGT MPV_1,Timebin=2,Disc=1,asmb=1CD
Fri Feb 24 22:07:10 2012
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run_13055088 FGT RMS 1,Timebin=2,Disc=1,asmb=1CD
Fri Feb 24 22:07:44 2012
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run_13055088 FGT_ADC 1,Timebin=2,Disc=2,asmb=2BC
Fri Feb 24 22:06:03 2012
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run_13055088 FGT RMS 1,Timebin=2,Disc=2,asmb=2BC
Fri Feb 24 22:07:45 2012
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run_13055088 FGT_ADC 1,Timebin=2,Disc=2,asmb=2BC

Fri Feb 24 22:06:05 2012
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run_13055088 FGT MPV_1,Timebin=2,Disc=2,asmb=2BC
Fri Feb 24 22:07:11 2012
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run_13055088 FGT RMS 1,Timebin=2,Disc=2,asmb=2BC
Fri Feb 24 22:07:45 2012
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run_13055088 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD

Fri Feb 24 22:06:09 2012
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run_13055088 FGT RMS 1,Timebin=2,Disc=2,asmb=2CD
Fri Feb 24 22:07:46 2012
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